% VALENCE PRIMARY SCHOOL KS1 Maths Challenge: April 2025
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Choose a challenge to solve —
Can you solve more than one?

Challenge #1

1

What is the mass of the cylinder?

5 |

What would be the mass of 2 cylinders?

cubes

Challenge #3

Tick the name of the container with the least capacity.

bucket

It takes 5 cups to fill a bucket.
It takes 3 cups to fill a bowl
It takes 6 cups to fill a sink

bowl sink

Challenge #2

Count the money.

Tick the coins that make 77p.

Creative Challenge
Fill up 3 cups to show them:
1.Full.

2 Nearly empty.

3 Half full
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You can also colour the
above cups.
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